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Note :This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed

instructions given therein. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be issued.
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Section–A / 

(Long Answer Type Questions) /  

Note :Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. What do you understand by management accounting?

Discuss its characteristics. How does it differ from

financial accounting?

       
       
 

2. Define cost of capital. How will you determine the

cost of capital raised from different sources?

        
        

3. From the following information calculate Material

cost variance and analyze the same on the basis of

different causes-
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2. Give any four examples of balance sheet ratios.

       

3. A company has the following balances:

           Rs.

Investment as on 31st March 2022  68,000

Investment as on 31st March 2023  56,000

During the year the company had sold 40% of its

investment held in the beginning of the period at a

profit of Rs. 16,800. Calculate cash flow from in-

vesting activities.

       40%  

16,800        

    

4. What do you understand by performance budgeting?

       

5. Discuss the salient features of Responsibility Ac-

counting.

      

6. What is optimum capital structure?

    
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7. Calculate Material variances from the following in-

formation:

       

SQ = 40 kg. SP = Rs. 10 per kg.

AQ = 48 kg. AP =Rs. 12 per kg.

8. 'Management information System is a continuous

process'. Explain this statement.




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